iR %

BIKIS AT - 5 & SiRIAKE ; = a7 b 1 BRIKIS AR B12(E , Rk
BREEE SRR KIS H RER - RK)(* 1) KT HAE{E (mg/L) SRR K(ZEHAE1LE) BREEE (me/L) F& ProE——

HKERHR R6.6.6 R6.9.5 R6.12.5 R7.36 | R6.11.27 | R6.12.3 R6.4.16 R6.5.8 R6.6.4 R6.7.9 R6.8.6 R6.9.11 | R6.10.15 |§66'1111 '257 R6.12.3 R7.1.7 R7.2.5 R7.35 HKEAH R6.6.6
ERIKEFZ 11:30 11:05 10:10 11:10 11:00 11:43 12:25 11:16 11:54 12:24 11:36 11:10 12:06| 11:32| 11:23 12:30 11:14 10:40 11:16 ERIK B % 11:30
Xix Eh =l Eh R/ Eh BEh BEh BEh BEh BEh Bh| EY| BHh BEh BEh BEn 551 Xix =
Sim (°C) 24.7 26.4 14.5 10.6 16.2 16.5 23.9 22.1 225 33.0 315 325 26.9] 19.1] 17.3 17.0 12.0 7.2 7.2 i (C) 24.7
Kim_(°C) 21.9 25.1 13.4 8.9 12.6 12.3 15.8 20.0 22.5 27.0 30.0 285 231 208| 15.8 15.2 9.8 9.8 10.9 Kim _(°C) 21.9
=] 0 0 0 0 0 1001E LLF 0 0 0 0 0 0 0 0 0 0 0 0 1[1.3->4oo7oxR(D-D) 0.05 % RE <0.0005
2| KIGE THEE[ 'l THRH| THH Et|  BHIhAGLNIE PEE e [=4k3 e [=4k3 [E3ES [=4k3 [EYES e e Ei fEtE 2|2 2-DPA (4'5F) 0.08 BREH| <0.001
|HRESVLRUVZDIEEY <0.0003] <0.0003] <0.0003] <0.0003 <0.0003 0.003LLF <0.0003 3|2,4-D (2,4-PA) 0.02 BRE A <0.0002
4KEBRUZDILEY <0.00005| <0.00005] <0.00005] <0.00005 <0.00005 0.0005LLF <0.00005 4|EPN 0.004 Bl <0.00004
5| LU BRUZFDIEEY <0.001 <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 5|MCPA 0.005 BB <0.00005
6| RUVZDILEY <0.001 <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 6|7 a5L 0.9 BRE A <0.009
1INEZRUVZDIEEY <0.001 <0.001 <0.001 <0.001 <0.001 001LLF <0.001 1 7E7z—k 0.006 Bl <0.00006
g|/NlivOLitEY <0.002 <0.002 <0.002 <0.002 <0.002 0.02LLF <0.002 8l7hST 0.01 BB <0.0001
O|FHREREER <0.004 <0.004 <0.004 <0.004 <0.004 0.04LLF <0.004 9|7=nkX 0.003 BREF <0.00004
10[> 7oA A L BRUIEIES 7Y <0.001 <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 <0.001 <0.001 <0.001 10[ 735X 0.006 R HE| <0.00006
1EREZERRUVBHEBREEZESR 1.3 15 2.1 1.7 2.1 10LLF 1.2 1.5 2.2 2.4 11{7550—L 0.03 BREF <0.0003
12[09FRUVZDILEY 0.09 0.08 <0.08 <0.08 <0.08 08LLTF <0.08 124 F9F4> 0.005 Bl <0.00005
13[[F53FRUVZDIEEY <0.1 <0.1 <0.1 <0.1 <0.1 10LLTF <0.1 13[4 2z kR 0.001 Bl <0.00004
14{POiE 1L ik 3R <0.0002] <0.0002] <0.0002] <0.0002 <0.0002 0.002LLF <0.0002 14|14 70AHIL T (MIPC) 0.01 HRE <0.0001
151 4-CAF 9> <0.005 <0.005 <0.005 <0.005 <0.005 0.05LLF <0.005 15(4V7aFAS52 (IPT) 0.3 REE <0.003
16 :;/17\2_ 1;?5;;:;;53 <0.004 <0.004 <0.004 <0.004 <0.002 0.04LLF <0.002 16(4F7TohILNJ Y 0.002 PREE <0.0001
17[C5oo2r4> <0.002 <0.002 <0.002 <0.002 <0.001 0.02LLF <0.001 17|41 7B~ kR (1BP) 0.09 REE <0.0009
18[7F> ooxFL > <0.001 <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 18|43 /4948 0.006 REE <0.001
H 9[F)ZOonTFLY <0.001 <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 19|45 /07 0.009 BB <0.00009
20(RL L <0.001 <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 20lTx7aALT 0.03 BB <0.0003
21|18 R <0.06 <0.06 <0.06 0.06 <0.06 0.6LLTF 0.11 <0.06 <0.06 0.09 21|TrozoTOvs R 0.08 R HE <0.0008
22| 0O EEfE <0.002 <0.002 <0.002 <0.002 <0.002 0.02LLF <0.002 <0.002 <0.002 <0.002 2| TURZRILITFZU(N VY IEY) 0.01 R HE <0.0001
# 23|7aak)IL L 0.014 0.013 0.003 0.003 0.003 0.06LLF 0.016 0.017 0.006 0.005 23|A XY rairky 0.02 BB <0.0002
24| HOOE R 0.006 0.005 0.002 0.005 <0.002 0.03LLF <0.002 <0.002 <0.003 0.004 24|A4 3 SR HER) 0.03 BEH <0.0003
25> 0ES/OOAR 0.003 0.003 0.007 0.004 0.007 01LLF 0.006 0.004 0.009 0.008 25|A ) XbOEY 0.1 REE <0.001
26| R R <0.001 <0.001 <0.001 <0.001 <0.001 0.01LLF <0.001 <0.001 <0.001 <0.001 26| HXHHRZ 0.0006 R HE <0.00004
15 27[#aR )\ AR 0.025 0.023 0.017 0.012 0.018 01LLF 0.032 0.030 0.026 0.023 27|h7x2kE—IL 0.008 BB <0.00008
28|~ OO BEES 0.006 0.006 <0.003 0.003 <0.002 0.03LLF 0.004 0.007 0.004 0.003 28| AL By T 0.08 3 RA <0.0008
29[ nESH/OOAR 0.008 0.007 0.005 0.004 0.006 0.03LLF 0.010 0.009 0.009 0.008 29[H)L/31J JLINAC) 0.02 3 RE <0.0002
307 OFHRILL <0.001 <0.001 0.002 0.001 0.002 0.09LLF <0.001 <0.001 0.002 0.002 30|AILRTSY 0.005 3 RE <0.00001
= 31|RILLTILTER <0.008 <0.008 <0.008 <0.008 <0.008 0.08LLF <0.008 <0.008 <0.008 <0.008 31|% /9532 (ACN) 0.005 BREH <0.00005
R2|FMRVZDILEY <0.005 <0.005 <0.005 <0.005 <0.001 1.0LLF £0.01 32(FvTH 0.3 FREH <0.003
38| TILE=DLRUVZDILEY 0.04 0.03 0.02 0.01 <0.02 02LLF <0.02 33|vz)Lo 0.03 BRELHI <0.0003
U BERUVZEDIEEY <0.03 <0.03 <0.03 <0.03 <0.01 0.3LLF <0.01 34|57 )Ry —bk 2 BREE <0.02
BBV ZEDIEEY <0.01 <0.01 <0.01 <0.01 <0.01 10LLTF <0.01 35|45 Lk R—b 0.02 BREH <0.002
36|FRIDLRUVZDIEEY 16.0 13.1 20.9 24.9 20 200LLF 15 36|yOATOvS 0.02 BRI <0.0002
37|RVHUVBRUZEDIEEY <0.001 <0.001 <0.001 <0.001 <0.005 0.05LLF <0.005 37|70)L=rO27z> (CNP) 0.0001 BREH <0.00004
38|IBIEAA 20.3 15.2 25.1 335 24 200LLF 20 23 25 22 23 17 20 24 24 27 31 34 38|40LE KRR 0.003 3 RE <0.00004
AL OL, T ILEFEE) 62 59 79 73 77 300LLF 60 59 78 78 39|~oo4n= )L (TPN) 0.05 HEA <0.0005
40| FEZXEY 180 160 170 170 170 500LLF 140 150 150 180 0>7F2 0.001 BREH <0.00001
A4 A RmEEHEH <0.02 <0.02 <0.02 <0.02 <0.02 02LLF <0.02 41|27 /7R A (CYAP) 0.003 HARF <0.00004
I RAI <0.000001]| <0.000001] <0.000001] <0.000001 <0.000001 0.00001LLF <0.000001| <0.000001| <0.000001] <0.000001 42> o> (beMmu) 0.02 BREH <0.0002
43|12-AF LAYV RIL A —IL <0.000001]| <0.000001] <0.000001] 0.000001 <0.000001 0.00001LLF <0.000001| <0.000001| <0.000001] <0.000001 43[40~ =)L (DBN) 0.03 BREH <0.0003
A4 JEA A R mEHEF <0.005 <0.005 <0.005 <0.005 <0.002 0.02LLF <0.002 <0.002 <0.002 <0.002 44[<40)LHR R (DDVP) 0.008 Z A <0.00008
45|2x/—)L %8 <0.0005] <0.0005] <0.0005] <0.0005 <0.0005 0.005LLF <0.0005 45|47y 0.01 BREH <0.001
46| EHEME(TOC) 1.0 0.6 0.7 0.9 1.0 3LLF 0.7 0.8 0.9 0.9 0.8 0.6 0.8 0.9 0.8 0.9 1.0 1.0 46| 2 JLIRE(TFIFAAY) 0.005 % R <0.00004
47| pH{E 7.4 7.7 76 75 76| 58LLE8BLLT 7.7 7.7 7.8 7.8 7.8 7.7 7.6 7.6 7.7 7.7 7.7 7.6 47|CFAHIVINA—F R EE 0.004] FH-FREH <0.00005
48|k EELL| BEELL| EEGL] BEELGL EELGL| EEChVIY BRELlL| EELGL| EELL| EE4L| BEELL| EELGL| BEE4L] EFELL| BEELL| EBLAL| EE4GL| EELGL 48| CFAE L 0.009 BREH <0.00009
HER EELL| BEELL| EEGL] BEELGL EELGL| EEChVIY BRELlL| EELGL| EELL| EE46L| BEE4L| EELGL| BEE4L] EFLL| BEELL| BEBAL| EE4GL| EELGL 49|>\OkRyTITFIL 0.006 BREH <0.00006
50| & < < < 4 <05 S5FELLTF <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 50|2 << (CAT) 0.003 BREH <0.00004
51[AE <0.1 <0.1 <0.1 <0.1 <0.1 2EE LT <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 0.1 <0.1 <0.1 0.1 <0.1 <0.1 51| AR ARV 0.02 BREH <0.0002
52| AT —hk 0.05 3 RAE <0.0005
B AZ{E (mg/L) 53| AR 0.03 BREH <0.0003
HWZoFEVDRUVZDIEEY <0.0015] <0.0015] <0.0015] <0.0015 <0.002 0.02LLF w LB FATS /Y 0.003 % RE <0.00004
2|19 RUZDIEEY <0.0002[ <0.0002] <0.0002| <0.0002 <0.0002 0.002LL R (*2) = | 5584400 0.8 BRELH <0.008
S| =T LRUZDIEE Y €0001|  <0.001 0001|  <0.001 <0.002 00251 F <0.002 56 g{&;’;b’f{g JL;’EiJJ'L\;\i?—F 001]| BE-BR-BEH <0.0001
NEEES | 5777z 01 SEE <0.001
5/1,2->4-/00xT3y <0.0004] <0.0004] <0.0004] <0.0004 <0.0004 0.004LLF 58| FH5 L 0.02 BEA <0.0002
K 6| R #& s FATALT 0.08 B R <0.0008
rEES B | 60|FAo7%—FAFIL 03 BEH <0.003
& 8lkLTY <0.04 <0.04 <0.04 <0.04 <0.001 04LLF 61|FARANLD 0.02 BREE <0.0002
9[JHILEED 2-TF JLAFX)L) <0.008 <0.008 <0.008 <0.008 <0.008 0.08LLF 62|77V ILRAL 0.002 BRELH <0.0001
e | 10|FIERER <0.06 <0.06 <0.06 <0.06 0.6LLF 63|7/LTHILT (MBPMC) 0.02 BREFI <0.0002
& 11|x & 64[r)ZOE L 0.006 BREFI <0.0003
m 12| —BR{EIR SR - - - - 06LLF 65|14 0)L7R> (DEP) 0.005 Y- <0.00005
13|>yo07tw~=KJJL <0.001 <0.001 <0.001 <0.001 <0.001 0.01 LA (x2) <0.001 66|k HST—IL 0.1 ZEAl <0.001
g 14{¥#8ko05—)L 0.003 <0.002 <0.002 0.002 <0.002 0.02LL T (*2) 0.006 67| TILSY) Y 0.06 BREH <0.0006
15|=%% <0.01 — — — 1T 68|70/ =K 0.03 BRI <0.0003
- 16[7R B8R 0.8 0.9 0.8 0.6 0.81 1T 0.69 0.59 0.63 0.62 0.58 0.61 0.50 0.46 0.45 0.52 0.57 0.55 69]/8¥5a—~ 0.01 BREH <0.001
o 17(AIVS DL, =T 29 L5 (FE) 62 59 79 73 10~100 60 59 70|[EXORR 0.0009 BREH <0.00004
= 18X AV RUVZEDIEEY <0.001 <0.001 <0.001 <0.001 001LLF <0.005 === 0.01 BREH <0.0001
A% 19 5 Bt o BB 6 6 5 6 2 20LLF 72|55 %010 0.004 BR 5 <0.00004
- 20|1,1,1-k)HO0QTR <0.03 <0.03 <0.03 <0.03 <0.001 0.3LLF 73|ES5V ) R—METY L)) 0.02 BREH <0.0002
= 21| A FI)L-t-TFIJLT—TF )L (MTBE) <0.002 <0.002 <0.002 <0.002 <0.002 0.02LLF JAEYE DI FAY 0.002 R <0.00004
15 22| B E (KMnO4EEE) (* 3) - — — - LT 0.7 0.8 0.9 0.9 0.8 0.6 0.8 0.9 0.8 0.9 10 10 75|EY T FHILD 0.002 BREA <0.0002
23| R =58 E (TON) <1 i i <1 A LT 1 76|lE0¥0O> 0.05 HEHE <0.0005
g 24| 7R FRIREY 180 160 170 170 30~200LLF 140 150 77|7470=)L 0.0005 % RE <0.00001
25| A <0.1 <0.1 <0.1 <0.1 1EUT 0.1 <0.1 <0.1 0.1 <0.1 0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 78| Z7x=FOF#+> (MEP) 0.01 R <0.0001
26|pH{E 7.4 7.7 76 75 g EE 7.7 7.7 7.8 7.8 7.8 7.7 7.6 7.6 7.7 7.7 7.7 7.6 79|2x/75)L7 (BPMC) 0.03 % RE <0.0003
1[BBG 7UTHER - 12 - 0.9 - 1.0 -1.2 - 09 —1~0 - 0.8 80|7x Ly 0.05 BREH <0.0005
28| EEE=ME (HPC) 0 0 0 0 0 20001 F 0 81[Zz>F#4> (MPP) 0.006 Z A <0.00006
29[1.1->H/OoRITFL> <0.01 <0.01 <0.01 <0.01 <0.01 0.1LLF <0.001 82| 7z kT —FK (PAP) 0.007 % RE <0.00007
30| ZILZSZ O LRUFDIEEY 0.04 0.03 0.02 0.01 01LLF <0.02 83| 7T hSHER 0.01 BREH <0.0001
31|PFOSKE U'PFOA(* 4) - - - - 0.000010 0.00005 L1 T (*2) 0.000009 84|7H54K 0.1 EEAl <0.001
85|J44s0—)L 0.03 BREH <0.0003
* 1. FTEEGEBHFAFKSGAAEHOOKREEREZEH 86| 743K R 0.02 BREA <0.0002
* 2.8 F 87|77020x> 0.02 = ARF <0.0002
* 3: K #EIFH #46(TOC) TR A 88[TILTTH L 0.03 HREF <0.0003
* 4:PFOS(RILI)ILAOF SR X LRV EE) RUPFOA(RILZI)LAOFHRER) 89|7LFS540—)L 0.05 BREH <0.0005
90|77 IRY 0.09 BREA <0.0009
91|7aFAHR 0.007 % RE <0.00007
92|7aFarJ—) 0.05 BREH <0.0005
93|7aEH3K 0.05 BREH <0.0005
94| 7aRF—)L 0.03 BREA <0.0003
95|JOETFK 0.1 BREH <0.001
96| /3L 0.02 BREA <0.0002
97|k Oy 0.1 BREAE <0.001
98|V EL sy 0.09 BREH <0.0009
9|R YTz FvT 0.005 BREH <0.00005
100[Ro % 0.2 BREH <0.002
101|[RUTAAR) Y 0.3 BREH <0.003
102|_R225A)LT 0.02 % RE <0.0002
103|RUTILSY (A ZBYY) 0.01 BREH <0.0001
104|_RoTL+—Fk 0.07 BREH <0.0007
105| RRAF7E—hk 0.003 % RE <0.00005
106w S5FAL (ZS5UL) 0.7 3 RE <0.007
107|*a7oy7 0.05 BRE <0.0005
I EYE 0.03 5 RE <0.0003
109 A825% )L 0.2 HEEl <0.002
110/ A*F % FA4> (DMTP) 0.004 5 RE <0.00004
11| AR /ZAFEEY 0.04 HREH <0.0004
12| AR TS 0.03 BRE <0.0003
13| A7+ vk 0.02 BRE <0.0002
114|A7a=)L 0.1 FEH <0.001
115| ) R—k 0.005 BRE A <0.00005




